Day 2 — S Pattern Task
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1. What patterns do you notice in the figure?

Thece ave Three Woin PQJY‘VQVV\S:

| The numbec o8 columns \n +he middle
of each Ligure Corresponds o One
less Fhon the diagmw\ nUmber .

7. The number of Hiles n €ach Column \n
e middle 0€ cack -Q'\Cjurf CO(‘PGSPOY\A.S ‘o
one Mmore than the d'\w}mm humber .

3. The most obvious pattern is That eadn
Figure, Pe%ard\ess ok d’\oxgrofw\ Numbe ¢,
hos the Z Hles on the sides of the

columns.
2. Sketch the next figure in the sequence. aoooa s
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3. Determine an equation for the total number of tiles in any figure in the sequence. Explain your equation and show
how it relates to the visual diagram of the figure. Try to find as many different equations as possible!

To create an equattion ( 1+ may help 10 Crevte

o +oble fipst. Tles in Toral
Fackh Tiles \n  W1\E ToYa )
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Now to look for o potlec to orite s an
uno&'\Or\ may be dif§iculd IOOkihC} ot only
+he total number of tiles. But, once you
realize thot every dingrom starts with
7 +iles, you can look ot the tovol tiles
in eoch Co\umv\. The Connecxion o qe'\'

s Dumber ’\s‘—\ro mu\%'\p\\/ the column
h\m\\oer '\"\mfs ‘\\«e \"\\CS 'W\ 60(\\ CO\um\.
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Look'mt) {'urH\erl Yhe Connecdion between
the c\iqcﬁrom\ ond the Column 15 one less:

CO‘UI’N\ Nuw\\per = O'\O.(Sro\w\ Number - \

= Lr\ -\
The Cornection betloeen~ the dicxc&\'o\m and
Yhe tiles \n eah Column 1S One more !

Tes in each (olumn = D\'mﬁmm Number +\

:r\-\-w

L—> For O\r\\{ Q\(O\%mm r\um‘oer, Yo €ind
+he total files n all the columns,

We Wm‘ﬂp\y the two obove (r\*ﬂ(r\*\\.
Then, to £ind the +ovol Xiles overall,
we Yake Yhis number ond 0dd Z.

Tota\ Number of
i) r an = -
Tiles Lor any (n M\—*f

Dio%ram N umber
= PR AR\ ¥ 2
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Some o \ou YY\\C}\N\- hove been oole
-\'o e thys poﬁ\*erh ond de Yecmine
this equation by (00\<ih<j ot the
dotal files vn our Table oloove.

4. Sarah wrote the expression (n + 1)2 — 2n. Can you explain how her expression relates to the diagram?

\n Order %O SC]UO\PQ SOme*\A'\h(j in Motk

he same Number Fimes 1hse\d s peeded.

Saroh took the di agrom ond creaked
Squores | ond then Subtrocted Yhose

+iles she added ouf:
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10 <7 added

The dimesions Soc Ahe Square of each
c\iaqmm s one more Yhon the cho\%ro\rv\

Aumber , which 15 Wheece the (h—»\) comes com.



To fird Yhe tota) tiles in €ach dio«cirom.
Squore (n+1) Sinee Jou e W\UP(\P\Y\V‘%
+he NDumber Times yhse\e ... (V\‘Y \Y'

Nex¥ . Socah reeded Yo subdcocek out
WMe Yiles she added ond the conneckion

bekween the A\chmm number and the
number 0% tiles added is doubled... Zn.

Which is how Sarok qot (N+1)* = Zn .
5. If you knew the figure in it, how could you determine the figure number? Explain.
Tre t’quo&\or\ L come up with o

determine the fotal amount of iles
tor ony c\io\qro\w\ Number was -

Total # m<n cepresents )
- be

o& Tiles diqgmm nUAMbec

|

48072 ~ n°® 4'\ Solve Lor n
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has 4302 +iles.




